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ssEe el sEes | B e zeee el szes |70 B s
[mg/100g] [mg/100¢g]
604 15 21.0 2.0 644 TR 15.0 2.4
605 15 23.0 2.0 645 T 18.5 2.8
606 INEE 14.0 11| 646 TR 12.3 2.4
607 15 19.0 22 647 T 16.5 2.2
608 15 18.0 2.7 648 R 228 3.7
609 TE 14.8 2.4 649 Zxi) 12.0 1.8
610 15 16.7 48 650 4] 15.3 1.7
611 IINEE L 13.2 11 651 Xl 16.8 3.2
612 INEE 12.2 12 652 R 14.2 2.4
613 INEE L 10.0 1.0 653 R 13.6 15
614 ! 13.1 15| 654 -rﬁ% 15.7 18
615 TE 14.9 27| 655 TES 16.7 1.4
616 TE 10.6 22| 656 R 13.4 1.7
617 TE 11.7 18] 657 o E 13.2 2.2
618 e 12.2 17| 658 R 14.9 2.4
619 e 12.1 2.3 659 B#R 12.9 2.1
620 HZR 15.4 2.3 660 B 12.2 1.9
621 P 11.8 23 661 -Jﬂlﬂ 15.3 21
622 R 9.8 2.4 662 2 11.9 16
623 R 11.8 20 663 2 12.2 1.6
624 R 12.8 23| 664 HZ R 10.5 1.7
625 R 16.1 3.0[ 665 Fif 13.2 1.9
626 FRIER 13.6 19| 666 TE 12.5 2.0
627 FRID0IR 18.9 53 667 TE 13.3 2.1
628 FRIER 18.2 43 668 FiR 12.3 2.3
629 Nt 13.2 25 669 e STiicli 15.4 2.4
630 = FhruEp 18.1 31 670 2 20.4 2.6
631 = PhPUER 18.5 43 671 A 13.7 2.7
632 = HhruE 16.4 25 672 8 R HT 16.4 2.1
633 =HR=EB 19.8 3.7 673 A 16.8 2.6
634 =HR= 2B 16.5 26| 674 B s AT 18.5 2.6
635 =MRZE 19.5 3.7 675 R BT 14.9 2.4
636 =HREB 12.7 16| 676 AT 21.2 3.8
637 FRAER 21.9 35 677 R AT 13.7 1.9
638 BRI 26.3 1.4] 678 25 15.8 2.3
639 FRI0ER 17.0 23 679 B AT 13.8 3.2
640 BRI 16.4 32| 680 S s AT 13.3 2.8
641 =k 17.6 2.0 681 8 AT 16.4 2.8
642 T 18.7 23 682 FR#E 15.4 1.9
643 TR 16.7 21| 683 =E:: 10.8 1.0




TRSER—E

(R B [X)

TR ITER—E

(RB[X)

58S el gmas | B e ana| zees bred ssez [P0 B i)
[mg/100g] [mg/100g]
684 HimET 16.9 1.0 724 2L 11.2 1.9
685 R ET 15.1 1.3] 725 Zib 16.1 2.6
686 HrimET 17.3 2.0 726 M 12.7 1.4
687 FTET 12.1 12| 727 BER 14.6 2.5
688 FTHT 13.6 0.9 728 | 16.3 2.3
689 FTET 9.0 0.5 729 BER 16.3 1.8
690 FTHT 11.9 2.0 730 B 15.7 1.7
691 FTET 14.6 1.0 731 1Ly U5 T 15.0 0.8
692 FTHT 14.3 26 732 BER 13.1 1.5
693 s 17.7 3.2 733 H# 14.1 1.7
694 BEHT 12.7 19| 734 M 14.0 1.1
695 I 11.7 1.6] 735 H# 17.9 2.4
696 L 13.4 1.8] 736 M 14.3 0.9
697 3H 19.5 2.1 737 R 18.9 1.5
698 L 17.3 1.9) 738 R 15.2 1.3
699 Bk 20.4 3.0 739 &R 16.3 0.7
700 = 14.8 3.3 740 R 13.3 1.2
701 K 19.6 25 741 R 16.5 0.9
702 &5 13.4 2.3 742 TETET 19.0 1.8
703 &5 16.7 25| 743 HAREF 15.2 1.6
704 ~H 15.1 2.1 744 HARE 16.2 1.3
705 | 135 2.8 745 2P 13.4 1.5
706 = 14.2 26| 746 -%7@% 15.1 15
707 & H 15.6 39| 747 HAREF 16.6 1.4
708 ~H 15.4 29| 748 HARE 17.1 1.1
709 i 13.4 23| 749 A& 19.5 1.8
710 BERT 15.8 1.8] 750 A 19.7 1.9
711 Bl 16.8 29 751 S 15.5 1.9
712 HEFF 12.6 2.4 752 A 16.4 1.8
713 & H 15.1 2.4 753 N 19.4 1.6
714 pikall 13.2 25| 754 A 17.9 1.3
715 B5 12.5 1.8] 755 AH 11.4 1.4
716 B5 9.9 1.6] 756 KH 21.1 3.3
717 B EM 175 23| 757 TR 23.4 1.3
718 B5 12.2 2.0 758 R 15.5 0.8
719 Bl 17.1 2.1 759 -4:’7% 33.3 2.1
720 B 13.4 1.9] 760 ST 14.2 1.9
721 B5 11.8 1.5 761 AE 13.1 1.6
722 e BE 11.9 1.2[| 762 Ny = 10.2 1.5
723 Zl 10.5 1.5]| 763 e B 11.3 1.6

52

FHES IR £%e% AT A B SRR AL 3K[%]
[mg/100g]
764 2R 11.6 1.4
765 R 10.3 1.6
766 8.9 1.0
767 9.5 1.9
768 9.3 1.8
769 12.6 0.8
770 12.6 1.9
771 15.5 1.5
172 16.3 1.2
773 12.9 1.2
174 18.1 1.5
775 14.7 1.0
176 10.0 1.1
177 17.1 2.6
778 11.8 1.2
779 12.6 1.5
780 13.8 1.7
781 11.4 1.8
53

SR DO RS
AlfREE Y A B
s | % e o)
[mg/100g]
nE
(BIEE1EMELS) | (REBEEL)
o |
O X
X O
-




BRADARYAIT YT

-~y

(I3

e

e
ol

)

VRN )

Ay A e .un.?.#n...‘

oo \
afs St ‘\J,\\\“A//,,..MXW
LR V] e

N ../.(..\_“v [ u
=TI 17T e }
Kk

Ofx]O]|x

Y a7
BefL 2k

o
RORA
D2
(

i
BIEEE

5|8
WEIT 2| &
R _\ubkb/ﬂ LIS
TS 2|
P e E |
LRIF B

=\

=

L — = —

i R, i (/RS

LN A R
et DL

s

e
] m. .
z%%%m%%@uﬂnﬂ g
=

g//r‘\ﬂ:/\

(

\

p

N A

v \m\,\\rr/
N

Y/ o\

"y N f— _.:__.n

L7/ i g

TN Y 3 By BTSRRI W ,
\\ el o e LR | L
VDL o ORI L7y xS S SRS )

;)

7=

55

54



XS Y PN R )

%{51.5)

(RIEBE

O @)

B{E15)

(RIEH

/\s
-

= /m/

w 4 £l 4 . ; \
, . .. ..,...‘ AN 75 N\ ¥ g N4 Ay
= y e N 5 f & Vs 5 ‘ s ! . :
.\ Y. I3 R ¥ 7 ; . / 4 . . .
YN A4 7 g ~ 2y / f ! i A ‘ ,
.. i o A ) z 3 ,..., /. I 5 =1 3 7 [ et —
& /] N7 > Y N £ 2 B2 7 : ;
s R~ P <\ S ! : / A u 2 : | . :
.. i - [ ... Al TN h /femm
: 3 AL ; = Z = C 1 (s
3 & : Bt (5 .4 W X 7 ; y bl ; ¢ )
e 7 5 0 / WAy - k h 1 7% I
| , n > ) (4 /r;
| | i | 2 ) 2T ) 3 fa 1 < =4y =
. o N 2N = Z I i 55 & g,
b G S M e . ,. R
1 - % | ! " , . . : (
i \ > > N S04 Gt e - ) “ . SN .
p _4 -\ = T - R T = e . .. |
Y - (b= \,uu_ g - e el n ., : ‘

s
-

d\\%x
e®

7

5 7 A SN i Y 2 Nl e m=AT = S
J..;JJ\ m.n m...w A Ve AN L y

f.

o7

56



